PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

5th August 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / FH 4 ¥, $© U= &
g 34 M €, St 9, Pad TP o1 SieP, IUH € wafd T e 21 faww ard Y g

e XW

* FG

e ML

e PO
Correct Answer :-FG
2)
Question Stimulus :-

This person was the first Indian recipient of the prestigious Nobel prize. / g fed ufafia e IRIDPIR Pl
Ul WRA UTadat ATl

® Mother Teresa / HG rEg|

® Rabindranath Tagore / Ty &R

® CV Raman / d§t &t 7=

® Amartya Sen / 3t 9
Correct Answer :-Rabindranath Tagore / IQTY MR
3)

Question Stimulus :-

‘National Doctor’s Day’ is observed on the birthday of . ‘TI'@T{ s feaa & wﬁaw TR {HATIT
SATaT B

® Dr. Harsh Vardhan/ ST Fﬂh‘?h



® Dr. Devi Shetty/ SI. ¢dl g}

® Bidhan Chandra Roy/ ICUIE R

® Debendra Pradhan/ aa?{ 'IG)

Correct Answer :-Bidhan Chandra Roy/ fd¥9 9% Ia

4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faeu

ghesiab sl AR Rr s FTu= e :

If you are appointed, then you will receive an offerletter. / afe 3Mu g gla §, a MU yaE@
ledtcuf!

e If you haven’t received the offer letter, then you are not appointed./uﬁ MU YT U

¢} forer 2, <Y 3y fgaa TE gu B

* If you are not appointed, then you will not receive an offer letter./ 3[R 314 fgad 781 g¢
€, Y 3Tue uwaTa U ) e

® If you receive an offer letter, then you are appointed./ WWWWW%, GIRC I

frgsage €

* If you receive an offer letter, then you are not appointed./ WWWWW%, ar

3y frge T gU €

Correct Answer :-If you haven't received the offer letter, then you are not appointed./‘qﬁ

3D TG U a1 e 3, < 3mu fFgea T gu d

5)
Question Stimulus :-

A and B are planning to meet each other after office. A can leave office between
5:30 to 6:00 while B can leave office only after 6:00. A takes 1 hour by bus or
30 minutes by cab to reach the meeting point whereas B takes 30 min by bus
and 15 min by cab to reach the same. / A 3R B ¥Ry & d1¢ TH gk A @A 31 aqe=1 a1
I8 &1 A 5:30 3R 6:00 T & §9 AT IS HHdl §, TGP B Had 6:00 T & ¢ HATEY BIS JHdl
21 A DI Tl ®F a% §9 I Uga § 1 HeT aval § a1 30 e ¢Rit § wrd € 9i9fd B 31 SH R’_IM W)
Uga ® 30 fiFe 99 @ 3R 15 fiFe i @ wre §)

B knows that A would leave at 5:30 and will take a bus. When should B start from his office such that he can start as
late as possible and does not spend much time on traveling? / B SITHdT %ﬁ? A 5.30 S5 BTy ¥ fAred s
3R 99 WM B F 3pw A fora 9wy e arfee, 6 a8 fraan wva 8 3a1 R | fFroa sz aran o
SgIql 9HY 1 dime?

® 6:00, Bus /6:00, 9



® 6:15, Cab/ 6:15, ¢ail

® 6:15,Bus/6:15, Y9

® 6:30, Cab / 6:30, Gl
Correct Answer :-6:15, Cab / 6:15, ¢ail
6)
Question Stimulus :-

Which one of the following refers to the first nuclear reactor of India? / fFrrafafaa # 9§ 9 91 HRa &1 Ugdl

waTy] Rgaex & fog Wehifa wear @2
° Rohini/aﬁuﬁ
® Urvashi / 3d=it
® Apsara/ SGHRT
e Kamini / BT
Correct Answer :-Apsara/ TG
7)

Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will

have acidity. I am hungry so mayonnaise was spread on the bread. / 3¢ 38 &I aive f&ar wmar

2 3R 39 WR WA IR 1T € o 9 |l § Y1 8 o a1 g vhifed gt st § g § swfee dunw
oS TR T AT YT

* True / W&l

* False / Tlad

e Maybe / s‘rm %
 Irrelevant / RIS

Correct Answer :-Maybe / 8 9&dT &

8)
Question Stimulus :-

The southernmost tip of India is / HIRd BT Eﬁ.‘l'u'l?l'q ﬁ'g" %



® Rameswaram /?Tef%R'Ff

® Indira Point / 3'%“ Wrsc
® Trivandrum / dgw

® Kanyakumari /W@HT\P[

Correct Answer :-indira Point / $f¢3T WISE
9)
Question Stimulus :-

Where did Mohammed-bin- Tughlaq shift the capltal of the Delhi Sultanate to? / AIgFG-fa-- LGRINED 1 feet

Todd I ISYT BT Pgl RITAIARd fopar AT

Nagpur/ dTYR
Bhopal/ yiurer

Daulatabad/ aw
® Yadgir/ GIERAR

Correct Answer :-Daulatabad/ GIeldTaTg

10)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu qﬁrq
Sit 3T T Syl vd el & R d 9E B

Statements: / ®YH:

All advertisements are serials / 9 fAgU YRM@ERS &
All serials are movies / I H'R'IHT%H? foed %
Conclusions: / fwpu:

I. All movies are serials / gt feed WIHTT%H’T %

II. All advertisements are movies / Wt fagu= freHt &
® Only conclusion I follows / *Had fased 1 fAeadar %
® Only conclusion Il follows / Had frsed 1| freadr %
® Both conclusion | and I foIIows/ﬁWEf I Gﬁ? I1 3-17'1-1' IGEANG %



® None of the conclusion | or Il foIIows/ﬁ'WEf ITTIIA A aﬁ% T'Iﬁ IREISGI %
Correct Answer :-0Only conclusion Il follows / pad frspy || forear @

11)
Question Stimulus :-

IRDA of India regulates and develops __industry in India. / HIRd BT 'IATEHRSIT HURT A _3@'” CIRELIED]
IR fawfRa sar |

i Banking/azﬁﬂT

® Investment /foa=r

® Mutual Funds / T3 hgd

® Insurance / §THT
Correct Answer :-Insurance / S1HT
12)

Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / f% ampfa #, smud, o, g iR Frpior
PUR: AF, 41, UPT 3R Irad 31 N & & &) g=iia 7

6 7 11&
/ 10

Which area is cultivated by all the four commodities? / f&a &7 & 39 9t IR axgan ot
Wt gt 82

e 7



e 8
e 9
e 2

Correct Answer :-7

13)

Question Stimulus :-

The only President of India who had two terms in office was / HIRd %mﬁw e wrafaa A E,Pf Srafer #
Yr

® AP JAbdul Kalam / T W S 3fegd ST

® S. Radhakrishnan / T ITHUTHWTT

® Pranab Mukherji /Wﬂﬁﬁﬁ

® Rajendra Prasad / IS5 UG
Correct Answer :-Rajendra Prasad / ITo17& UTS
14)

Question Stimulus :-

Born as Mahesh Das, this man became one of the nine jewels in Akbar’s court /'FI%'QT o Gy R Gﬁ?f, g

I B & GRAR & TR | 4 TP g1
® Birbal / fR¥a
® Tansen / AT
® Faizi / Troft
® Raja Todarmal / TSIl TISYHA
Correct Answer :-Birbal / §Rad
15)

Question Stimulus :-

Anurag introducing a girl in the party, said, “She is KP, the wife of Shomik. Shomik is the grandson of my mother”. How

is Anurag related to the girl? / Wﬁqﬁﬁ Wﬁ@ﬂﬂﬁwm g Pel, g TN Bt Tdl, G i
Tiifire A6 1Y &1 UIaT 21" 3R TT ds @ A HY Tafid 82



® Husband / afd

® Father/ LG

® Father-in-law / I{X

® Grandfather / GIql
Correct Answer :-Father-in-law / 9
16)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu

gfg, St ad 1 =R ¥ TR e 7T Fy= & TuE @

%f it is an excel file, then it is not a word file. / Ui U8 U$ TaAT BIsd 8, O U8 UP IS BIgd 8l
|

e Ifitis a word file, then it is not an excel file. /ﬁﬁ@ﬁmﬁ,ﬁwwm
LIECEH S

o Ifit is% not a word file, then it is an excel file. / If¢ Ug & 98 BIgd 8] &, d! U8 TP Tad
BIS 31

o Ifit is% not an excel file, then it is a word file. /ﬁﬁ@@ﬁ%ﬂﬁi?ﬁ%@ﬂé
Bigd el

e If it is not an excel file, then it is not a word file. /uﬁugwqa@amq‘e?f%,a‘rw
U% 98 13 Tei o

Correct Answer :-If it is a word file, then it is not an excel file. /ﬂﬁ%@ﬂémﬁ, a
I8 U T BIsd 181 o

17)
Question Stimulus :-

Which of the following towns of Madhya Pradesh has one of the 12 jyothirlings of India? / frafafea s 7 9

T UST BT 98 DI T WeR 3, 9l HRd & 12 saifafern & F ua 82
° Orchha/m
® Maheshwar / 'FI%’HT

® Omkareshwar / Gﬁ'lzlib'ﬁ’ﬂ?
® Khajuraho / m



Correct Answer :-Omkareshwar / STHPRY

18)
Question Stimulus :-

1. Six flats on a floor in two rows facing north and south are allotted to P,Q,R,S, T and U. /

T TR TR S T SR IR R0 & T aTel &) UiRTE & P,Q,R,S,T R U B JTfed T T B

2. Q%gets a north facing flat and is not nextto S. / Q Pl I 'ﬂ@ Fee fien ?, S S & qIg araT
Bl

3. S and U get diagonally opposite flats. / S 3R U
! fdevld :qm@E wWe i 8

4. R next to U, gets a south facing flat and T gets north facing flat. / R Sl U & 91 8, P &faur
T wie e 8 iR T &) SR gt waie e g1

The flats of which of the pairs other than S and U, are diagonally opposite to each other? /

S 3R U & 3dTdT 3 $IF | Sie & Wi fawold :qupa 82
e QP
e QR
* PT
* TS
Correct Answer :-QP

19)

Question Stimulus :-

The temples of Khajuraho are built of Ew & 'FI'%?' ¥ fafifa %l
® Marble / HTHIHI
® Sandstone / 3T TR
® Bricks / g?
® Black soil / el ﬁl@

Correct Answer :-Sandstone / T3 URIR

20)



Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / x| & AT &R 9 A 14 &1 yd® 3MeR &1 G=Hifed far T g1 98
fareu g ot Orfe v @) T & o Semet F T u # SRl &1 9 HH < )

RUSGA

12345

e 1,54,2,3

e 3,24,5,1

 4,53,2,1

e 53,4,1,2
Correct Answer :-3,2,4,5,1
21)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 79 4 &, Ugd ) vl & di9 [P R I FIE Jau g1 7y e d @ @y ug g
ST R e & Ty I yER FT WY gl

JTIS : HRGQ :: FPEO : ?
® CNDM
® CNDQ
® DNCM
®* DCNQ
Correct Answer :-DNCM

22)

Question Stimulus :-

Rihand multipurpose project will supply power to / fg agaﬁaﬂ”q ufearer o | wife &t Gﬂ'{ﬁ Cal|
® Southern parts of Madhya Pradesh / & SR & SfE0T UIT |

® Northern parts of Madhya Pradesh / & U™ & Sl HIT |



® Only Orissa and Chhattisgarh / Fad m 3R m

® (Central parts of Madhya Pradesh / H& U%QT & I YT
Correct Answer :-Northern parts of Madhya Pradesh / H&I TSR & I«T U |
23)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu ﬂﬁt{
Sit 3T T Fy=l Td el & R d 9E B

Statements: / ®YH:

All actors are heroes / U iR gRY &

No actor is handsome / 13 f¥dr ez 71 &
Conclusions: / fassd:

I. Some actors are handsome / 99 Gl'f\'l-lﬁ'cIT'\ﬂaT%

I1. Those actors who are not heroes are handsome / S 3fHRdr 0% T8I & d Y3 &
® Only conclusion I follows / *Had fased 1 fAeadr %
® Only conclusion Il follows / Had frsed || freadT %
® Both conclusion | and I foIIows/ﬁWﬁf I Gﬁ? I1 3‘F‘ﬁ' IGEANG %
® None of the conclusion 1 or Il foIIows/ﬁWEf IGTIIH A ﬁé qﬁ Freadar %
Correct Answer :-None of the conclusion | or Il foIIows/ﬁWﬁf IGTIIH A aﬁé H’ﬁ IECISGI %

24)
Question Stimulus :-

Find the word that represents the category of the following three words. / T8 T J1d Bifold
<t g 9 2l Y Aot Y quifar @

Aeroplane, Train, Truck / §aI§ SgTSl, YIS, <P
® Speed /Wﬁf
® Rooms/HHY
® Wheels / q%ﬁ
° Transport/qﬁ'a'g"'f



Correct Answer :-Transport / Uf¥dg

25)
Question Stimulus :-

Following are the three positions of a cube. /ﬂqﬁ o= Rufeai ﬁl’HWﬁ%l

TOM RON
m M
JACK TOM
1%t view 20d ey
RON
NEAL NE
31 yview

What is the name in the face opposite to the face having name RON? / RON HTH * BAP & [JUd Bad IR T
v 82

® NEL
* JiIM
® NEAL

® NONE

Correct Answer :-NONE

26)
Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / 9%

A,B,C,D,E 3R F U% dI%I &1 Wd Vd ¢ A1 G948 & A & a1, umar ik amm A1 g1 #afgeng & A 1 #ar B,
B U Ui A 1 3 3w YT gUI Wl | D &) E | 3T R F A $I 3% U gUI E Bt Uish B Ja7
P 3P U §UI A & a1 &1 F 9 3if¥e 3i U g¢ W fibr ot ag @a =81 oftq a5 |

Who stood second in the game? / @9 H fgdy M feaq ura fear

* A



Correct Answer :-C

27)
Question Stimulus :-

Which branch of Archaeological Survey of India maintains gardens in different parts of the country? / YR

PRI A& Pt DI AT T ;1 F AT yrnt & STl &1 SRevT Hvdl 32
® Horticulture branch / STATT JTAT
® Pisciculture branch / W& YT AT
e Sericulture branch / Y319 JTG JM@T
® Apiculture branch / qﬂ"ﬁ@ T =2rEn

Correct Answer :-Horticulture branch / STGT- XIIET

28)

Question Stimulus :-

Matangeshwara Temple is locatedin ./ 'Fl_cﬁ’d'\" 'Fl'm _ ﬁ @ﬁ %I
® Khajuraho / m
® Chanderi / ilaﬁ
* Seoni/ Rra=
® Amarkantak / 3(HYPHCDH
Correct Answer :-Khajuraho / GSRTE!
29)

Question Stimulus :-

About 48% of total traffic on all the ports of India is being recorded on the ports of

./ R & JUt 91 BT 48% T AT ¥ deuTTel W IS fhar T gl

® Gujarat / oRRTd



® Andhra Pradesh / Gﬂﬂm

® Maharashtra/ 'FIB'RTg
® Karnataka / Bc®

Correct Answer :-Gujarat / J[eIRTd
30)

Question Stimulus :-

Who was the Constitutional Advisor to the Constituent Assembly? / TfaeT= IHT & ﬁnz Taerfre HdTghIR
P UT?

* Dr.Ambedkar / FASHI

® Dr.Rajendra Prasad / SI.ITSig WIS
e Jawaharlal Nehru / STaTgR @19 A%
* B.N.Rao/ I TG

Correct Answer :-B.N.Rao/ &t T9 319

31)
Question Stimulus :-

A class of boys stands in a single line. One boy is nineteenth i|_1 ordt_er from both the e_nds.
How many boys are there in the class? / g FIG% Th HaR H E% %I Th Wﬁm% H
H IFd WM R @1 81 Fe § frdan das@ 82

°* 27

° 37

° 38

e 39
Correct Answer :-37
32)

Question Stimulus :-

Anitha ranks 9th from the top and the 5t from the en_d .in a class of stude|_1ts. Find out the
total number of students in the class. / T® HEl & BE A T B HuR I 9dt Jult e §§ 3R
ifaw & 5dY 4ot wrw g1 I B 5, Fan A o fFaq v T



® 15
* 12
® 13
* 14

Correct Answer :-13

33)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 faseu gfHQ
Sil 3T T Syl wd el & R d 9 R

Statements: / ®YA:

All scooters are vehicles / it IpcX dled %
Some cars are vehicles / $9 PR aed &
Conclusions: / e

I. Some scooters are cars / PO PR PRE

II. Some cars are scooters / P9 PR Thc g

® Only conclusion | follows / *ad frsed 1 fApaar %
® Only conclusion Il follows / Wﬁ'@ﬁf ] ﬁﬁ?ﬂ %
® Both conclusion I and Il foIIows/ﬁW& I Gﬁ? I1 ?:a:ﬁ IGEANG %
® None of the conclusion | or Il foIIows/ﬁWGf I97II# ﬁ aﬁ% T'Iﬁ Freadr %
Correct Answer :-None of the conclusion | or Il follows / ﬁ'mﬂf I97II# ﬁ ﬁé 7'|€f Frodar %

34)
Question Stimulus :-

Which of the following corresponds to the lowest rank in the context of the Indian parliamentary system? /ﬁ'ﬁﬁ I

P9 9T HRATT ST gomrell & Jeo # 9ad &7 9oft & gHT= gar 82
® Minister of State with Independent Charge / AT UHIR & H1Y I HA
® Minister of State / Ig /A

® Deputy Minister / IUHA



® Cabinet minister / 1 E | qHo™d
Correct Answer :-Deputy Minister / S HAT
35)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweg
g, ab st IR R FE FIwA 2 -

If you are an actor, then you can act well./ 3RR 310 T JfHACT &, @ 3T 3BT U9 B b

gl

e If you cannot act well, then you are not an actor./ 3R 3T 33T AFHTT TS} B TPd ¢,
@O 3Mu TP SfiAar T g1

¢ If you not an actor, then you cannot act well./ 3R GITUEG?GIﬁ-ﬁ?IT:rE‘T%, ol 3T 3T
FUTg T8 B P 1

e If you can act well, then you are an actor./ 7R 3Y 33T GIT\WWW%',H} 3Y Th
R[AT g1

e If you cannot act well, then you are an actor./ 3R 37 33T fHTY 78I H Thd &,
3T T SFAaT 7

Correct Answer :-If you cannot act well, then you are not an actor./ 3R 31U 33T

SFHTT Y BT Fhd &, Y 3y T 3ifHaar 81 81

36)
Question Stimulus :-

What is the day on 8th November 1995? / 8 9dWX 1995 Cakcac k| feq %?
e Monday / THaOR
* Tuesday / HIddR

® Wednesday / §YdRR

® Thursday / T3dRR

Correct Answer :-Wednesday / JUdR

37)

Question Stimulus :-



First Indian Woman to win a commonwealth gymnastics medal is ___ ./ W e o uee Sita arel
Ugelt WA Afger ___ 3l

® Deepika Kumari / St Q’Wﬂﬂ'
® Jwala Gutta / SATdl [T

* P.V. Sindhu /Ut &% fRiY

® Dipa Karmakar / a1 YT

Correct Answer :-Dipa Karmakar / STUT BIHATHT

38)
Question Stimulus :-

is the first private sector hydel project in the state of Madhya Pradesh?/  H D%SZT k| qﬁﬁ ferott

& ot wra-fagaa ufvarer g
® Pench Hydel Project/ ﬂavﬁrﬁ@m UIECITE]
® Rajghat Hydel project/ Wﬁlﬁﬁ?ﬂﬁ ufareT
® Maheshwar Hydel project/ 'FI%’H? \_rlﬁ-ﬁgq—d uf ST
® Birsinghpur Hydel project/ ﬁ?ﬁlﬁ'ﬂ? W—ﬁ?ﬂﬂ UIFOIEE |
Correct Answer :-Maheshwar Hydel project/ R W—ﬁgﬂﬁmﬂ

39)
Question Stimulus :-

In which session of the Indian National Congress was it decided to declare Poorna Swaraj / YR TI'@TT Caprs|

¥ fr siftaw & gof T 9ifta & &1 S forar mar o
® Lahore session / ATRIR SMfUATH
® Madras Session / TS QA
® Surat session / gId SMTUARM
® Haripur session / BNQR TR

Correct Answer :-Lahore session /?I'Iﬁ? SrfiaEE

40)

Question Stimulus :-



Commonwealth Games was held in Delhi in the year 2/ ?TE'FI'@?T Qi 1 Ao feeet | af #
BT YT

® 2010
* 2012
® 2008
* 2014

Correct Answer :-2010

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A number consists of two digits. The digit at the tens place is two times the digit at the unit
place. The number formed by reversing the digit is 27 less than the original number. Find

the original number? / T H&T & 3iPI A TS St 81 SBTS BT 3P IPHTS & 3P A SNAT 8| 3P P
ISP HIP T I AHS | 27 $U g1 Ta W= Feifig?
° 33
° 43
° 53
* 63
Correct Answer :-63
2)
Question Stimulus :-

If 5234 is encrypted as 'RING’ and ‘6109’ as FAST how will 095234 be encrypted? / gfe
5234 &1 ‘RING’ ¥ Uy fHar a1 & 3R '6109’ FI FAST & TATHhy far w1 g, 99 095234 &1 A
ATy far srRm?

STRNIG

NGRIST

STRING

STRIGN



Correct Answer :-STRING

3)
Question Stimulus :-

In how many ways can 8 flowers of different colors be arranged into a garland? / M & 8 E’Tﬁ Cal W THTT
(8R) ® fFa adie) ¥ sqafeuq far o g&ar 22

® 23880

® 2520

® 5040

® 3780
Correct Answer :-2520
4)

Question Stimulus :-

Complete the series choosing the missing number: / ﬁqw—r ST PR @l E| Ul P :

1,5,14,30,55,

® 93

e 91

® 90

° 92
Correct Answer :-91
5)

Question Stimulus :-

A thief steals a car at 10 am and drives it at 60 km / hr. The theft is discovered at 11 am and the owner sets off in another car
at 75 km/ hr. When will he over take the thief?/ T TR JdE 10 T9 TP HR DI RIHR 39 60 [FAaer s a3 @
Srar 81 O & aR W Gag 11 99 U1 IodT 8 3R R BT 71 75 fBilder 31 9fd 9 e gu FR A IR B

U e Aeadr g1 98 IR & $d UH ST

® 12 noon/ aﬂ?? 128 9
® 2.45 pm/ UG 2.45 Tol



® 3.00 pm/ GIUEY 3.00 T

* 1.00 pm/ GIUER 1.00 T
Correct Answer :-3.00 pm/ &GI8 3.00 §oi
6)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁl 3[&R AP Tl G| T DI : ab
_ _bca _ _ab_

® cabcc

® bceca

® bccac

® cabcb
Correct Answer :-cabcc
7)

Question Stimulus :-

A person walks a certain distance and ride back taking a total time of 37 minutes. He could walk both ways in 55 minutes.

How long would it take him to ride both ways?/ Tdh iR I Udh IBIEG §'\Pf I I 3R 9199 IR T 3 § 37
e &1 a0 9aa araT 81 9 98 55 fimie ® 9 e &1 g8 &1 Ugd 9 $R ag FR ISl o | dl gl avP I
IR A -1 A 9P foa-T 99y e

e 19 min/ 19 fiFE

e 92 min/ 92 fiFE

e 40 min/ 40 e

e 72 min/ 72 fiAE

Correct Answer :-19 min/ 19 e

8)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 fed 73 IR val & ¥ = A T va & i IHE F19 91 v T8 82



Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(i) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(ii) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colarado 81211-1549

(719) 395-2409

(iii) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(iv) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409



Correct Answer :-ii

9)
Question Stimulus :-

If PLASTIC is coded as CITSALP, how will REVIVER be coded as? / Af& PLASTIC &1 CITSALP | ®ifsd foraT wITaT
al REVIVER @1 $Y difed fFar s

® REVIVER
® RIVER

® VIRVIER

® VERVIER

Correct Answer :-REVIVER

10)
Question Stimulus :-

Complete the series choosing the missing number: / AW JBAT FAHR 4GAT BT TR BT :

10,17,24,31,38,

* 43

® 45

° 44

® 46
Correct Answer :-45
11)

Question Stimulus :-

(17x9)-(100x16)/5+(9x7)/9+(520/13)=?
® -120
® -130

* -140



e 150
Correct Answer :--120
12)

Question Stimulus :-

The mean proportional between 0.008 and 0.002 / 0.008 3% 0.002 & &I T T &
* 0.4
* 0.0004
* 0.004
* 0.04
Correct Answer :-0.004
13)

Question Stimulus :-

The depreciation of an article is 20%. The value of the article after three years will be less
by/ U® o 31 B1Hd A 20% o fRmae amdt 31 7 e a1 39 avg @t S fFa-t ufazea $49 8t
SRRt

® 45%

® 48.8%

® 51.2%

® 60%
Correct Answer :-51.2%
14)

Question Stimulus :-

The series given below contains a sequence of a]phapets, numbers and symbols. Identify
the incorrect combination: / =12 & ¥ 4@aT 3R} T TBATAT BT SIHH WA Bl 8| Tad WA
qgaI-a|

(i) acbv5s210&vx
(ii) acbv5s210&vx

(iii) acbv5s210&wx



(iv) acbv5s210&vx

® ii

® jv
Correct Answer :-iii
15)

Question Stimulus :-

If A is written as 2, B as 4 and C as 6, then in the same encryption what does ‘12 10 10 8’

g:nnd for? / Ufe A &1 2 foRaT 9T 8, B &1 4 3R C F1 6, oY 3T Tf<hu== & '12 10 10 8’ F1 34 T
?

* DEEP
e DOOR
e DEER
* FEED

Correct Answer :-FEED

16)
Question Stimulus :-

A fair die is thrown. What is the probability of getting a prime number? / Tdh Ao T e ﬁ'CIT\_Il'IT'lT%I AU 3P
AN B U T2

° 1/3
° 1/4
° 1/2
° 2/3
Correct Answer :-1/2

17)

Question Stimulus :-



Prakash buys oranges for 3 rupees & equal number at 2 rupees. He mixes them & sells at 5 for 2 rupees.

Find his gain or loss percent. / YT 1 3 TUY & Jd¥ WIS 3R Id-11 & &I # 2 Tyu & Y Fa¥ @
394 Sl a8 P Ha3l D FUamar 3R 5 HaY 2 T 99 U1 IHST ATH T I Ufa=rd uar B |

® 4%
® 3%
°* 2%
°* 1%
Correct Answer :-4%

18)

Question Stimulus :-

A and B together can complete a work in 24 days. B alone can complete it in 30 days. If A does the work only for half a
day daily, then in how many days A and B together will complete the work? / A 3T B Iy H Udh hIH P 24 ﬁ""ﬁ
T R HR GHd &1 B 3bd 39 30 A1 # [ R GHar g1 e A AT Faa o o & forg 10 wwar g, @
A 3R B UTHITY W & fhaq o= & @1 S92

1
days / 26 ° f&

°

N

(<)}
L |

L | a2
| 2

e 26 ~days/ 26 ~ faa

e 26 “ days / 26 ~ faA

-

b | =

e 26days / 26 f&

L | 2
| 2

Correct Answer :-26 ~ days / 26 ~ faA

19)
Question Stimulus :-

The average of first 10 multiples of 5 is? / 5 & Ugd 10 JgIUN &7 39d 8?2
° 275
° 27

* 28



® 285
Correct Answer :-27.5
20)

Question Stimulus :-

In a sugar solution of 4 liters containing 25% sugar, one liter water is added. The percentage of sugar in the new solution is/

;ﬁ?ﬂam%ﬁwﬁ,ﬁmﬁn%m%qweﬂauﬁﬁWW| ¢ faeaT A b a1 ufawaan

® 25%
* 20%
* 30%
* 15%
Correct Answer :-20%
21)

Question Stimulus :-

If 8514 is encrypted as ‘"HEAD’, 3945 as ‘RIDE’ and 057 as ‘BEG’, what does the word
‘GRADE’ stands for? / df¢ 8514 &1 ‘HEAD’ ¥ U4y f5a1 41 8, 3945 & 'RIDE’ ¥ 3R 057 &I
‘BEG’ 9, 99 ‘GRADE’ I &IT IdTdT 82

* 13754

e 73145

* 41357

* 14735
Correct Answer :-73145
22)
Question Stimulus :-

The HCF and LCM of two number; are 25 and 1?50 respectively. If one of the numpers is
175, find the other number / & YBT3t ¥ HCF Td LCM $HHTI: 25 3R 1750 §| Ife TP T=AT 175

¢, A gl $em 9 P
« 250

e 200



e 240

* 260
Correct Answer :-250
23)
Question Stimulus :-

A fruit seller buys 200 apples for Rs. 80 & sells it for Rs. 100. What is his profit Percent? / Td el faspar 80
FUA A 200 T Wl 2 3R 100 A H a1 ¢ | SHD ATH BT Ui=Id F1 872

®* 30%
® 35%
* 25%

® None ofthesel%?ﬁ' I ?ﬁ's::lﬁ

Correct Answer :-25%

24)
Question Stimulus :-

In a certain coded language, MORALE is coded as 296137 and CHARCOAL is coded as 45164913. What is the code for COACH
in the code? / Fdl W Aibfd®d HIUT § MORALE BT IS 296137 § 3N CHARCOAL BT BIS 45164913 §| I
PIS W coacH & ford w1 Pl 82

® 42864
® 39184
® 49145
® 38731

Correct Answer :-49145

25)
Question Stimulus :-

3
Simplify: 8-{ 2 +(° - - )} / Wd FIfeg: 8-

LA | el
b | =
b | L
L | e
b | =
Ly | e
b | L
b | =



1
n ko | ko | k2 | ka

L | k2

Correct Answer :-6

26)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, TG=N $R@@1 A TP U TAd 8| TAd US I BIoR|

3,15,45,225,675,3370
® 3370
® 675
® 15
® 45
Correct Answer :-3370

27)

Question Stimulus :-

Complete the following sequence of figures. / GI'I?RITI;[ & ﬁl’H HH Bl T Hifor:

A - -
i ?

I




Correct Answer :-

28)
Question Stimulus :-

Three dice are thrown simultaneously. What is the probability of getting a sum of 17? / 3 WWWW TTE?I T
TUTGAT g D1 37 URI UR G 6T 17 3A?

° 1/72
* 1/36
® 1/216
° 1/18
Correct Answer :-1/72

29)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁq &R gAM AT B U Hﬂm : ab _aba _bbaaa _
b_aa_bb

® aabba
® aabbb
® aabab

® babaa



Correct Answer :-aabab

30)
Question Stimulus :-

How many triangles are there in the following figure? / % anefa & fFaq Bwior g2

e 9
e 10
Correct Answer :-8

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
The speeds of three cars are in the ratio of 5: 4: 6. The ratio between the time taken by them to travel the same
distance is in the ratio: / T HICIHRI Pt Tfd BT AJUTH 5:4:6 §1 ST §RT THE g¥l 997 HA § &
TG HT 3UTd © :

® 10:12:15

® 12:15:10

® 6:4:5

® 5:4:6

Correct Answer :-12:15:10

2)



Question Stimulus :-

When we place our palm in front of the moving ball, the speed of the ball /ﬂ?l?ﬁ E'&" ﬂ?{ & ATHA o9 °H 3=t
U IWA €, at g BT A

® |ncreases / dedl %

® Decreases / 9cdl %

® Becomes Zero / [ d SITdT %

e Neither increases nor decreases / dd agarg R A g gear g

Correct Answer :-Decreases / 9Ycdl %

3)
Question Stimulus :-

Which of the following statements is NOT correct? /ﬁl’H A Q9 A Y ﬂﬁ Hﬁ %.?
® All green plants can prepare their own food / Tt Gi' WY AT IS W6 9491 IPhd %
® Most animals are autotrophs / JfYPpar SR Ut aﬁ %

® (Carbon di oxide is required for photosynthesis / UPIRA IRAYUT & o Praq 313'\3{73'\‘1133 4|
TaLSHdT gielt @

® Oxygen is liberated during photosynthesis / UBIRI IR & EaTFT 3o fAeadt %

Correct Answer :-Most animals are autotrophs / JfpdR FAT-aR Ut Eﬂ% %

4)
Question Stimulus :-

International Biodiversity day is being observed on / GI?IWI'@TI sig-fafaeran ﬁaﬁ e ﬁ""l HATIT SITcT %
e 239 March / 23 A
o 215 April / 21 30
e 22" May / 22 HS
e 15December / 1 feTw R

Correct Answer :-22" may / 22 H§

5)



Question Stimulus :-

When a beam of light falls on a convex lens it / STd YPIRI G| Udh fp~ur Iua a9 W ARl %, dd dg :
® Converges / Sfirariya gt @
® Diverges / ST gl @
® Passes through / 'ﬂTrRT'ﬁ %

* Scatters / WIUl gidl &
Correct Answer :-Converges / fHIATT gl &
6)
Question Stimulus :-

Dried sludge is used / @ 3TUH BT TANT gaT @

® In waste water treatment / YFIRIY oIl & SUGR

* As manure /TG & ¥U H

e Asfood / YsH & ¥FU#

® To kill microorganisms in soil / J&T ® JgAGNTIal & AR & fog
Correct Answer :-As manure / @T¢ & U H
7)

Question Stimulus :-

The vegetative parts of the plants are / el & g YR %
® Roots / \_rl'é'
® Root, stem and leaves / SIS, T Gﬁ?' gf~ai
® Stem and branches / dH1 3R W

® Flowers /Y

Correct Answer :-Root, stem and leaves / SIS, dHT 3R ufri

8)

Question Stimulus :-



A whale swimming in the ocean illustrates / Y% #H adt Eﬁ Th %ﬂ' fegeT 3IaleXul %
® Sliding friction / Tt gefor
® Rolling friction / oo Yoy
® Fluid friction / dX¥d gyur
® Static friction / Rifae Ty
Correct Answer :-Fluid friction / d¥d YUT

9)

Question Stimulus :-

19° +21° 197 +21°
Evalugte 10 T19%21+20 , 197 —19x 21+ 21 o1 R
* 30
® 40
® 49
e 51

Correct Answer :-40

10)
Question Stimulus :-
N3] N V7 N

If x =6 find

3

* 72
® 72

® 216

. 36£

3

Correct Answer :-72



11)
Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. /ﬁ"! drfersT # 1960 A 2000 TF PO
<= @t ufy srfdd & Wl R @ (AP STer A) $T uar gadT 31 SUA BTG T3 ABRI BT ITIRT
o e Faral &1 sara ¢

Country/&ar 1960 1970 1980 1990 2000
Australial

sirefer 493 545 684 994 1300
Austria /

Hifeeam 307 423 762 916 1344
Belgium/dTesa

H 255 348 627 953 1340
Canada/ S-St 221 489 770 1251 1714
Czech

Republic/ =

Ruisee 223 289 387 441 553
Denmark

CELIEY 541 736 943 1275 1554
Finland /

fierets 258 372 584 954 1414
France/ Sief 269 406 699 1110 1555
Germany /

ST 461 666 955 1375 1729
Greece/ A1 195 310 464 694 838

For which country the average of the healthcare expenditure from 1960-2000 is the Highest? / fora a'QT # 1960-

2000 ¥ WTRY Gd &1 NTd Ja4 rel a2
® (Canada / PATST

® Denmark / é_"ITIT*



® France / Wid
® Germany / ST

Correct Answer :-Germany / s

12)
Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. /ﬁ'ﬂ drfereT # 1960 A 2000 TF [ 23]
<= @t ufY safdd & Wl R @ (AP STeR A) T Ul gadT 31 SUA BTG T3 AIBRI BT ITINT
o e Fardl &1 sare ¢

Country/ gar 1960 1970 1980 1990 2000
Australia/

Jecfera 493 545 684 994 1300
Austria /

Hifeea 307 423 762 916 1344
Belgium/dTesa

o 255 348 627 953 1340
Canada/ &-=TsT 221 489 770 1251 1714
Czech

Republic/ =<

T leeieh 223 289 387 441 553
Denmark

=TT 541 736 943 1275 1554
Finland /

hecls 258 372 584 954 1414
France/ ¥ 269 406 699 1110 1555
Germany /

ST 461 666 955 1375 1729
Greece/ 1 195 310 464 694 838




For which country the average of the healthcare expenditure from 1960-2000 is the lowest? / fora %E!T & ﬁl"'{
1960-2000 TF & WA W4 $I T TIH FH 32

® Austria / 3TRedr

* Belgium / SfcoraH

e Finland / -TdS

® Greece / Uik
Correct Answer :-Greece / ¥
13)

Question Stimulus :-

When a commodity is sold for Rs. 34, there is a loss of 15%. What is the cost price of the

commodity? / W9 TH a%g B 34 U4l & 99T 9141 &, @ 15% B g1 gt 81 ag $T HI-Ted fbar 82
* 50
° 40
* 60
° 70
Correct Answer :-40
14)

Question Stimulus :-

Why are electric plugs and switches made of the polymer- Bakelite ? / fagad &
3R &= &1 fAuior sgae sFage ¥ wf fFar o 82

® Because Bakelite is a poor conductor of electricity. /m a%m: ﬁg’q_d DI WA AT %I

® Because Bakelite can be softened easily on heating. /alﬂ'ﬁ? TH e W ﬁm ST | HATaH
forar <1 W g1

® Because Bakelite can be remoulded and reused. /m am &) ftb3 | erelr ST Jhdl % 3R
SUAT fomaT &1 9t 2

® Because Bakelite is very strong and hard to break. | F e mﬁ'{ qggd Holdd gd % 3R T ¥
Tl ged|
Correct Answer :-Because Bakelite is a poor conductor of electricity. /a?ﬂ'ﬁ? ﬁm ﬁg’qﬁ DI WRTd
qAP gl



15)

Question Stimulus :-

Trees are important because /ﬁ'@j’ H‘s'aqpf 3-1% % e

® They maintain the oxygen —carbon dioxide balance in nature / a uqﬂ%r T 3ffeite, AR maﬁ'aaﬁs
BT WA §1E I&d §

* They cause soil erosion / d Hal e & DR §
® They reduce the level of water table / d Sddd BT TR BH HId %
® They increase greenhouse effect /a "JﬂT-IB'IG'\‘[ UyTd A q@ B %

Correct Answer :=They maintain the oxygen —carbon dioxide balance in nature / C| QTRT T 3ffRite,
P ST TRITES T HTHIGE TATE TE@d &

16)
Question Stimulus :-

In the given figure, DE || BC. If AD = 1.7 cm, AB = 6.8 cm and AC = 9 cm, find AE. / & Tt
3mpfd § DE || BC 8] afe AD = 1.7 9}, AB = 6.8 ). 7 AC = 9 T, dt AE I HA|

A

e 1.7cm / 1.7 9HL.
® 34cm/3.4 I,

® 45cm/4.59H,

® 2.25cm/2.25 GHI.

Correct Answer :-2.25 cm / 2.25 9H]I.

17)
Question Stimulus :-

The moon’s period of revolution as well as of rotation is / TG DI Q:UTT'I' 3R uf¥spaor %

e 30days / 30 feq



® 14days / 14 fea
e 27.3days / 27.3 &

® 24days / 24 f&q

Correct Answer :-27.3 days / 27.3 e

18)
Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. /ﬁ"! darfereT # 1960 A 2000 TF PSS
<= @t ufy orfdd & W R @ (AP STer F) FT UaT IadT 1 IUAY HRIS T3 DRI BT IUNT
o o Faral &1 sare ¢



Country/ gar 1960 1970 1980 1990 2000
Australia/

Jecfera 493 545 684 994 1300
Austria /

Hifeea 307 423 762 916 1344
Belgium/dTesa

o 255 348 627 953 1340
Canadal S=TsT 221 489 770 1251 1714
Czech

Republic/ =<

(g leeids 223 289 387 441 553
Denmark

=TT 541 736 943 1275 1554
Finland /

hecls 258 372 584 954 1414
France/ ¥ 269 406 699 1110 1555
Germany /

ST 461 666 955 1375 1729
Greece/ i 195 310 464 694 838

Which country showed the highest percentage increase in the expenditure on healthcare from 1960-2000? / m a'QT

T 1960-2000 ¥ WA WR B+ ard @4 | 999 3ifU® ufaza gfs ¢t 152
* Belgium / dfcoraw
* Canada / PATST
* Finland / F-TdS
® France /WId

Correct Answer :-Canada / PATSI

19)



Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. /ﬁ'ﬂ dIfer®T # 1960 A 2000 TF PO
2= 9 ufe safdd & Wy R @ (S STaR ®) &7 UdT Iadl 81 SUASR! BRI TS SATTRRT BT ITaHT
o Fr5 Faral &1 sara g

Country/ gr 1960 1970 1980 1990 2000
Australial

3 !if I 493 545 G684 994 1300
Austria /

3 E§| 307 423 762 916 1344
Belgium/dTeaa

" 255 348 627 953 1340
Canadal S=TsT 221 489 770 1251 1714
Czech

Republic/ T

{qlseieh 223 289 387 441 553
Cenmark

=TI 5441 736 943 1275 1554
Finland /

Hhelels 258 372 584 954 1414
France/ i 269 406 699 1110 1555
Germany /

FHA 451 G666 955 1375 1729
Greece/ I 195 310 464 694 838

Which country showed the lowest percentage increase in the expenditure on healthcare from 1960-20007? / g a'!ZT

% 1960-2000 | WA W g1 ard Td # Jad #4 ufa=a gfs &t 152
* Austria / JfTecaT
® Czech Republic / 3@ FYufsy®
* Denmark / ST



® Greece/ T

Correct Answer :-Czech Republic / 9% fYuf&i®

20)
Question Stimulus :-

Which of the following statements is false? / g # A B9 AT Y 3T %?
e Diameter of a circle is twice its radius / Jd $T U ITD! AT BT AT g1 B

® Diameter is a chord of a circle, passing through the centre of the circle / WQH&‘TTE'

witaT @ o fF 99 & Fx A FHR ToRet @
® Diameter of a circle is half of its radius / qammwwaﬁﬁwmamns‘rm%

®* A diameter divides the circle to two equal halves / T 9d B & JuE Sruf=n ¥ fywfora
HAT 3

Correct Answer :-Diameter of a circle is half of its radius / d ®T IR AP AT BT STYUT

gl 8

21)
Question Stimulus :-

What causes indigestion in human beings? / 'Flﬂuﬁ A v frad R Eﬁ?ﬂ %?
® Lack of physical exercise. /W TATH B HHT 1
® Due to over eating. /3|ﬁ|$ @ A
® Formation of excess base in the stomach. /ﬁ?: = G tIRE & famtor @
® TFormation of excess acid in the stomach. /a'E' H srearfies ot & famtor 9

Correct Answer :-Formation of excess acid in the stomach. /ﬁ?: H arearfier e & fAmtor 9

22)
Question Stimulus :-

Find the area of a triangle whose vertices are (1, -1), (-4, 6) and (-3, -5). / 3 et &1 aath_('l' ATd a%’ﬁ%nz
e 2 (1, -1), (4, 6) 3R (-3, -5) B

® 12 square units / 12 it WI%
® 48 square units / 48 9 FHTS



® 24 square units / 24 i ng

® 96 square units / 96 Tt ng
Correct Answer :-24 square units / 24 Tif g1
23)

Question Stimulus :-

If your mother has curly hair you might also end up with curly hair, is due to unit of inheritance in living organism,
which controls the transfer of hereditary characteristic from parents to offsprings.name the unit / 'Clﬁ 3P HTdT &

YIRTA 91 § df 31 & ot goRTS 911 81 GHd §, I§ Sifad ofitq # GRS & THIN & RN gl g, S
ATaT fUar | Jar § g faRiwarsit & wirHiazer &t fFrafa $ar 81 39 tHi &1 A9 @
* Chromosomes / UG
Ribonucleic acid / ATSAT-gfaae 3T
® Deoxyribonucleic acid / TS TRIRTSIfda® 37t

Genes / 9XIY[

Correct Answer :-Genes / 97|

24)

Question Stimulus :-

(8 (8
cut: E | cut: E |
If0 =90° find - /afge=90° "/ 3Py
. NE)
°* 1
e 0
® js undefined / Sy %
a8

Correct Answer :-

25)

Question Stimulus :-



Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. /ﬁ"! drfersT # 1960 A 2000 TF PO
<= @t ufy srfdd & Wl R @ (AP STer A) $T Ul gadT 31 SUA BTG T3 ADBRI BT ST
o o Faral &1 sare ¢

Country/ &ar 1960 1970 1980 1990 2000
Australia/

HfecFeram 493 545 684 994 1300
Austria /

Hifeeam 307 423 762 916 1344
Belgium/dTesa

] 255 348 627 953 1340
Canada/ =TS 221 489 770 1251 1714
Czech

Republic/ =

Ruisee 223 289 387 441 553

Denmark

CELIEY 541 736 943 1275 1554
Finland /

fopetels 258 372 584 954 1414
France/ Sief 269 406 699 1110 1555
Germany /

ST 461 666 955 1375 1729
Greece/ A1 195 310 464 694 838

Which country did not show consistent increase in the expenditure on healthcare over the period?/ g a'SZT A 3rafy

A WG W B a9 @9 A e i T8 feard?
° Austrialém

® Canada / PHTST
® Finland /f.ﬁ”i_"la.?;
° Greece/"iﬁ?



Correct Answer :-Finland / fFTcis

26)
Question Stimulus :-

Which of the following is not true when milk changes into curds? / S1d g¥ Eﬁ ¥ gfvafda @?ﬂ % ar ra = |
DI T A & grar?

® |ts state is changed from liquid to semi- solid. / IYP! AT g I 3rdf 3 # ufyafda ?f ST %
® It changes in colour. / SHPT T dGd STl %

® |t changes intaste. / dg g | dqd STdT %

® The change can be reversed. / uf¥ad_ Sepfrd forar s J@dr %

Correct Answer :-The change can be reversed. / uf¥ad Iepiud faar &1 J&d1 &

27)
Question Stimulus :-

An example for a unisexual flower / Wﬁl‘ﬁ Yo dT JaleXul % -
® Mustard / Il
® Papaya / qdtar
® Rose / dld
® Hibiscus / 3Sgd

Correct Answer :-Papaya / UUidl

28)

Question Stimulus :-

If each edge of a cube is doubled, then its volume . /?T% U & Y& fPaR &l a'{FIT DI ﬁTIT VTg, a
IH®T ATIG Y ST

® is doubled / QR[AT
® becomes 4 times /4 T[T
® becomes 6 times / 6 T[T

® becomes 8 times / 8 T[T



Correct Answer :-becomes 8 times / 8 T[T

29)
Question Stimulus :-

In man, nasal passage is lined with wet mucous membrane and hair. Give reason. / \’rm ﬁ, AT AR 99

rereT fRreedl ok arel & w1y ¥ 51 7)1 sHeT PR i)
® Hair covers all parts of our body / T8l gHR IR & Tt YT ST SATARVT FHd &
® Both of them together, regulate temperature / d GIF e ¥ A, aT9HTE H FFEifa €
® Breathed in air, is filtered and moistened / dIg ot me, ﬁw&a Gﬁ'\" T Yad _&Pf STl %
® Entry to the nasal passage is controlled / \ITHTGIR At d vy fAEfaa Ea?IT %

Correct Answer :-Breathed in air, is filtered and moistened / dTg A ot ﬂ'\i'?:[, frrifea 3R =+t god ﬁ
STl @

30)

Question Stimulus :-
Mohan picked a natural number and multiplied it by 3. Then number cannot be the result of his
multiplication. / HIg A TP UIpfad AT g1 T4 34 3 | I[UN fopar| a9 F=m AP U
&1 U =T51 81 9! 3

® 3987

® 3968

® 3786

® 3789

Correct Answer :-3968



